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W-BE=£-F-8 40,273 326,493 11,891 2,515 (4,636) 5,069 12,082 325879 719,566
REEHE LR AR

ERZBERZBEEE - - (205) - - - - - (205)
REEEFFH - - - - - - - 22,497 22,497
BN -FRHKE - - - - - - (12,082 - (12,082)
BRZZ2=F4Hke - - - - - - - (8,055) (8,055
ZETCERRRERE - - - - - - 12,082 (12,082) -
RZZ2ZE=F+-A=1—H

kR=ZERE-F-H 40,273 326,493 11,686 2,515 (4,636) 5,069 12,082 328,239 721,721
REBNEBERES - - - - 2,802 - - - 2,802
REERFZE - - - - - - - 50,482 50,482
feRBEFEE - - - - - 10,442 - (10,442 -
BENZZZ=FRERE - - - - - - (12,082) - (12,082)
ENZSEMEFERE - - - - - - - (8,055) (8,055
“ETMEREARSRE - - - - - - 12,082 (12,082) -

R-ZZME+-A=+—-H 40,273 326,493 11,686 2,515 (1,834) 15,511 12,082 348,142 754,868

fEfs
ARRRMBAR 40273 326493 11,686 2515  (1,834) 10,442 12,082 346333 747990
BEnE - - - - - 5,069 - 1,809 6,878

R-2EME+-A=+-H 40,273 326,493 11,686 2,515 (1,834) 15,511 12,082 348,142 754,868

KRR RMB AR 40,273 326,493 11,686 2,515 (4,636) - 12,082 328,324 716,737
BENT - - - - - 5,069 - (85) 4,984
W-ZE=F+-F=+-H 40273 326,493 11,686 2,515 (4,636) 5,069 12,082 328,239 721,721
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